3apava

OaH maccuB A[1..100], dopmmpoBaHue
MaccuBa OCYLLUEeCTBJIAETCA crneayrowmm
obpasoM: A[i] := i-(i mod 9)*4;

1) HaMouTe CcpenHee apudiMeTHMUECKOe
ero sBHaYeHMHN

2) HauOguTe CcpefHee apmbpMeTHUeCKoOe
BJIeMeHTOB KpaTHBX 13

3) HaMOUTe CYMMYy 3JIEMEHTOB
MAaCCHMBA, KOTOpPHE PacCHOJIOKEHE
MeXIOy MMHMMAJIbHBIM M MaKCHMMAaJbHBIM
BJIeMeHTaMMn

3)

const N = 100;
var A: array [l..H] of integer;
i, =2, v, %, Maxim, Min: integer;

begin
for i1:=1 to N do
begin

Afi]l:=i-(i mod 9)*4;
1) si=s+4[i]:
if A[i] mod 13=0 then

£

begin
2)
®r=L[i]+x;
end;
end;
Writeln ('cp. apuiMeTMuscEoS= ',3/n);
writeln|'cp. apMiMSTHMUSCHOS SMASMSHTOE KpaTHHH 13 = ', x/v):
=
( Maxim:= A[1l]; x:=1; \
for 1i:=2 to n do
if A[i]>Maxim then
begin
Maxim:= A[i]:
Hi=i;
end;
Min:= A[l]:; w:=1;
for 1:=2 to n do
if A[i]<Min then
begin
Min:= A[i]:
yi=i;
end;
s:=0;
for i:=y+1 to =x-1 do =s:=z+A[1i]:
\~ writeln ("s= ",3): /
end.

OkHo BRIBOAE

cp. apubMeTHuecroe= 34.62
cCp. apuiMeTHMYeCcKOse IJMIeMeHTOE KpaTHHX 13 = 39
s= 3375




